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An aqueous reactant stream passes through a mixed flow reactor followed by a plug flow
reactor. The initial concentration of A is 4mol/liter. Find the concentration at the exit of the
plug flow reactor if in the mixed flow reactor Cx,=1mol/liter. The reaction is first-order with

respect to A, and the volume of the plug flow unit is three times that of the mixed flow unit.

HERWA RN, 7E PFR FiAE] 99% 27 R N AT TA] 10 4348h, WI7E CSTR H#HTH, F
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M. F—WAHRMN A—>P+S, HRMNEHR-r-kC’, k=10 m’/Kmol.hr, Cy=0.2Kmol/m’,
V=2 o'/ hr, R TIIHE, MEENERK?

(1) PFR, #&HA 4 n’ ; (2) PFR—CSTR , #&#HZH 2 n’;

(3) CSTR—PFR, &K 2 n’s  (4) CSTR—CSTR, #A&#EH 2 '
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1. BHANBHERET ¢ M—BRENX, HIEW: n = -1, SNBAERET

¢ o= 2/[1+ (1-4Da) "],
2. SFRRMN, 2A—P, 1:=kC’; AtB—R, 1r:=k.CiC;; 2B—T, ri=k,G’, RIUEBHEER K

MR, ECSTRF, AGBIREZHNA: C/C= (k/ k) %
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